Entrega 1

pll

% MODELO 1

x = linspace (0,4,300);

y = sin(3%x."2).xexp(—x/2);
plot(x,y,’k’,’linewidth’ ,1.5)
hold on

x = 0:4;

y = sin(3%x."2).xexp(—x/2);
plot(x,y,’ko’,’linewidth’ ,1.5)
hold off

% MODELO 2

x = linspace (0,5,300);

y = cos(x.72.5)./(2+x.72);
plot(x,y,’k’,’linewidth’ ,1.5)
hold on

x = 0:5;

y = cos(x.72.5)./(2+x.72);
plot(x,y,’ko’,’linewidth’ ,1.5)
hold off

% MODELO 3

x = linspace (0,5,300);

y = cos(x.71.5).%sin(x);
plot(x,y,’k’,’linewidth’ ,1.5)
hold on

x = 0:5;

y = cos(x.71.5).xsin(x);
plot(x,y,’ko’,’linewidth’ ,1.5)
hold off

% MODELO 4

x = linspace (0,5,300);

y = x.*%sin(3%x).xsqrt(4+sin(x));
plot(x,y,’k’,’linewidth’ ,1.5)
hold on

x = 0:5;

y = x.*%sin(3%x).xsqrt(4+sin(x));
plot(x,y,’ko’,’linewidth’ ,1.5)
hold off

% MODELO 5

x = linspace (0,5,300);

y = exp( sin(x.72)./(14x) );
plot(x,y,’k’,’linewidth’ ,1.5)
hold on

x = 0:5;

y = exp( sin(x.72)./(14+x) );
plot(x,y,’ko’,’linewidth’ ,1.5)
hold off

pl12

rand (1)
rand (1)
¢ = rand (1)

o ®
Il

if b "2—4xaxc<0



disp(’No hay solucién real’)

else
x1 = (—b+sqrt(b"2—4xaxc))/2/a;
x2 = (—b—sqrt (b 2—4xaxc))/2/a;
if x1==x2
disp ([’Hay solucién tnica y es ’
— num2str(x1l)])
else
disp ([’Hay dos soluciones y son ’
<~ num2str(x2) ’ y ’ num2str(x1)])
end
end

pl3
% MODELO 1
function A = pl3(A)
m = size(A,1);
for ii = 1:(m/2)
A([ii ,m/24+ii], :) = A([m/2+1ii,ii], :);
end

end

% MODELO 2
function A = pl3(A)
m = size(A,1);
for ii = 1:(m/2)
A(:,[i1 ,m/241ii]) = A(:,[m/24+1ii ,ii]);
end
end

% MODELO 3
function A = pl3(A)
m = size(A,1);
for ii = 1:2:m-1
A([ii,ii41], ) = A([ii+1,ii], :);
end
end

% MODELO 4
function A = pl3(A)
(A

m = size(A,1);
for ii = 1:2:m—1

A, [ii,ii4+1]) = A(:,[ii+1,ii]);
end

end

% MODELO 5
function A = pl3(A)
m = size(A,1);
for ii = 1:2:m—1
A([ii,ii4+1], ) =A([ii+1,ii], :);
end
end




